

# copingskillsforkids.com (781) 519-9458 info@copingskillsforkids.com

Minimum Order \$200



Coping Cue Cards Discovery Deck \$12.50 Case Pack (10 decks) | \$125.00





Coping Cue Cards Relaxation Deck \$12.50 Case Pack (10 decks) | \$125.00





Coping Cue Cards Distraction Deck \$12.50 Case Pack (10 decks) | \$125.00





Coping Cue Cards Sensory Deck \$12.50 Case Pack (10 decks) | \$125.00





Coping Cue Cards Movement Deck \$12.50 Case Pack (10 decks) | \$125.00





Coping Cue Cards Processing Deck \$12.50 Case Pack (10 decks) | \$125.00



# copingskillsforkids.com (781) 519-9458

Minimum Order \$200

### info@copingskillsforkids.com











Set of 5 Card Decks \$62.50













Set of 6 Card Decks (Includes Discovery Deck) \$75.00

#### **CARD DECK BUNDLES**





## copingskillsforkids.com (781) 519-9458

#### info@copingskillsforkids.com



Processing Feelings \$5 Case Pack (24 books) | \$120



My Happiness Journal \$5 Case Pack (24 books) | \$120



Sensational Sensory \$5 Case Pack (24 books) | \$120



Relaxation Round Up \$5 Case Pack (24 books) | \$120



Distraction Detour \$5 Case Pack (24 books) | \$120



Marvelous Movement \$5 Case Pack (24 books) | \$120

# copingskillsforkids.com (781) 519-9458

Minimum Order \$200

### info@copingskillsforkids.com



Colossal Collection \$10 Case Pack (12 books) | \$120



#### TERMS AND CONDITIONS

Minimum Order \$200, Free Shipping on orders over \$500. Shipping will be calculated once an order has been initiated.

Payment is due in full when placing an order. Net 30 is available after 1 order. Prices and terms are subject to change.

Please note the copyright is not transferred when you buy from us. Coping Skills for Kids /Janine Halloran is the owner of our images, logos, designs and trademarks.

We reserve the right to refuse an order at any time.

#### **LEAD TIME**

Orders will ship with 4 – 5 business days. If there is a delay because an item is on backorder or for any other reason, we will notify you ASAP, and give you an updated estimate for shipping and arrival.

#### **RETURNS**

We make every effort to send you the best products, and hope you are satisfied with your order. However, we know life isn't perfect, and occasionally things may go wrong. If an item is faulty, or damaged in transit, please let us know by email within 5 days of delivery so we can figure out next steps.

When a return needs to occur, and the item cannot be replaced, the cost will either be refunded or credited to your account at our discretion. The cost of returning a faulty or damaged item to us will also be reimbursed.

### **Coping Skills for Kids Order Form**

Buyer Name	
Shop Name	
Federal Tax ID #	
Order Date	
Preferred Delivery Date	
Delivery Address	
Billing Address	

#### **PRODUCTS**

Item Name	SKU	Size	#	Price	Total
COPING CUE CARDS					
Coping Cue Cards Discovery Deck	CSKCCDIS	3.5x5x1		12.50	
Discovery Deck Case Pack - 10 decks		10x6x4		125.00	
Coping Cue Cards Relaxation Deck	CSKCCREL	3.5x5x1		12.50	
Relaxation Deck Case Pack - 10 decks		10x6x4		125.00	
Coping Cue Cards Distraction Deck	CSKCCDST	3.5x5x1		12.50	
Distraction Deck Case Pack - 10 decks		10x6x4		125.00	
Coping Cue Cards Sensory Deck	CSKCCSEN	3.5x5x1		12.50	
Sensory Deck Case Pack - 10 decks		10x6x4		125.00	
Coping Cue Cards Movement Deck	CSKCCMVT	3.5x5x1		12.50	
Movement Deck Case Pack - 10 decks		10x6x4		125.00	
Coping Cue Cards Processing Deck	CSKCCPRO	3.5x5x1		12.50	
Processing Deck Case Pack - 10 decks		10x6x4		125.00	

Bundle of all 5 Individual Style Decks	CSKCCB5	6x6x4	62.50	
Bundle of all 6 includes Discovery Deck	CSKCCB6	6x6x4	75.00	

ACTIVITIES BOOKS				
Activities Book: My Happiness Journal	CSKABMHJ	8.5x11	5.00	
My Happiness Journal Case Pack - 24 bks		12x9x8	120.00	
Activities Book: Distraction Detour	CSKABDD	8.5x11	5.00	
Distraction Detour Case Pack - 24 bks		12x9x8	120.00	
Activities Book: Relaxation Round-Up	CSKABRR	8.5x11	5.00	
Relaxation Round Up Case Pack - 24 bks		12x9x8	120.00	
Activities Book: Processing Feelings	CSKABPF	8.5x11	5.00	
Processing Feelings Case Pack - 24 bks		12x9x8	120.00	
Activities Book: Sensational Sensory	CSKABSS	8.5x11	5.00	
Sensational Sensory Case Pack - 24 bks		12x9x8	120.00	
Activities Book: Marvelous Movement	CSKABMM	8.5x11	5.00	
Marvelous Movement Case Pack - 24 bks		12x9x8	120.00	
SHIPPING – Calculated before final payment is processed.				
TOTAL				

To place an order, contact us in one of the following ways:

Email info@copingskillsforkids.com

Fax: 857-226-4974 Call: 781-519-9458